Filters

Operating Information

AF

N
AF200-8 AF320-8 AF320-10 AF420-15
Port size (PT) 1/4" 1/4" 3/g" 1/2"
Working pressure o 0.5 ~ 8.5(bar)
Working temperature 0-60°C -
Filtratio;_—_m“ B | - 5;m(option : 40;m) ‘

* For 40ym filter element add "-40" to end number, (example :

Ordering Information

AF 300-8-AD40-40)

AFBLL

F.J

Type
5200 Mini
|
320 | Junior

modular type

420 | Junior
modular type

semi-modular type

-]

ilo] [-] |A]

Port size(PT)

10
15

-
174"

| 200,300,320 type only)
! (30,320 type only)

| (400,420 type only)

L—4L

Auto drain

|
AD20 | 200 type only
AD40 | 300,400, 320, 420,

i 600 type only

—Parkor LR




Filters

Dimensions, Filter

AF200-8
038
2-PT1/4 —\ .
T
8 5
@©
AF320-8, 10

—Parkor LI



Filters

Flow characteristics, Filter

(at 7 bar inlet)
* AF 200-8

RC(PT) 1/4

0.7 T

e
@

/

o
wn

4
.

Pressure Drop (bar)
o
("]

/ﬁ.d. bar

0 200 400 600
Flow (l/min)

* AF 320-10

o
~

800

1000 1200

RC(PT) 318

1400

o o
w [-:]
|
I
|
| |
| |
|
‘ |
|
|

L
a
t

/

/ o

!
|

Pressure Drop (bar)

=
1]
|
T

0 500

1000

Flow (l/min)

AF420-15

1500

2000 2500

ouTt

—Parkor LR

3000

-2-PT1/2

* AF420-15

07

o o o
& U @

Pressure Drop (bar)

o
5]

Lo
w

RC(PT) 1/2

177

2000
Flow (l/min)

3000

4000 5000

AF



Regulators

AR

Operating Information

AR200-8 AR320-8 AR320-10 AR420-15
Port size (PT) 1/4" 1/4" 3/8" 12"
Working pressure _ | 0.5 ~ 8.5(5ar) | o -
* Working temperature - o-ec
Filtration o 5im(option : 40zm) N

Ordering Information

Type

ARZER] [

' 200 | Mini

semi-modular type

| nipple connection type

20 | Junior

320 | modular type

420 | Junior
modular type

110

' Port size(PT)

1/4"
&2339'300'320 type only)
| ﬁ{z)p.SQO type only)
| (400,420 type onl
! &, X type only)
| sqoo type only)
! (600 type only)

—Parkor LI




Regulators AR

Flow characteristics, regulator
(at 7 bar inlet)

* AR 2008 * AR 200-8

RC(PT) 114

Secondary Pressure (bar)

* AR 320-8,10 *® AR320-10
— 88 30 75 7 . PT(RC) 318
@42 :
| ! &1 ‘_""'—--_._.__ ) 6.2 bar
|
= N —
T o T
T = i & s | 3.1 bar _‘-——\
5 | —
| 2.1 bar
. E | ___\
- -+
out 0
- i} 1000 2000 3000 4000
\\‘._ et Flow (lmin)
o o.pTVE
Dimensions, Regulator
* AR 42015 * AR 420-15
REPT) 12

4000 5000
Flow {I/min}

—Parkor LR



Lubricators

AL

Operating Information

<>

Port size (PT)

Filtration

AL200-8

AL420-15

AL320-8 AL320-10
1/4" 1/4" 38" 172"
Working pressure 0.5 ~ 8.5(bar)
Working temperature 0-60C
5y m(option : 40;m)
Ordering Information
Type Port size(PT)
200 | Mini 8 1/4"
semi-modular type 200,300,320 type only)
300 Junior ) 10 /8"
nipple connection type 9300,320 type only)
400 @ Junior ) 15 /o
nipple connection type 5400,420 type only)
320 Jun&o; . 20 /4"
modular type I
420 |'Jior yp 2 gqoo type only)

600

modular type
Maxi P

semi-modular type

(600 type only)

—Parkor LI



Lubricators AL

Dimensions, Lubricator

e AL 200-8

2-PT1/4 -

[N our
=

hY

hY
S 2-PT/4
- 2-PTH/B

—Parkor LR



Lubricators

Flow characteristics, lubricator
(at 7 bar inlet)

e AL 200-8 ® AL420-15
07 RC(PT)1/4 07 : RC(PT) 1/2
. {2.4bar /6_2har /
0.6 / E ] 06 / —
. | 2.4 bar /!
—05
50° 5 / /
- = os / A2 bar
204 — go
‘D' (=]
@ i /
203 503 —
3 7 [
L2 — T 02 —
[ ////
01 0.1 =
0 0

(=3

0 200 400 600 800 1000 1000 2000 3000 4000 5000 6000 7000
Flow (l/imin} Flow (I/min)

RC(PT) 3/8

=
'Y

Pressure Drop (bar)
o
w

=
L8]

f\

[=1

o

1000 2000 3000 4000
Flow (l/min)

Dimensions, Lubricator

* AL420-15

—Parkor LI



Filters, Regulators & Lubricators

Operating Information

AFR

AFR200-8
Port size (PT) 1/4"
_;loddng p:ss.ur.e |
* Woring temperature B
Fihrati(;\__. :

AFR320-8 AFR320-10 AFR420-15
1/4" 3/8" 1/2"
05 - 8.5(bar)
0-60°C -

5ym(option : 40sm)

* For 40ym filter element add "-40" to end number, (example : AFR 200-8-AD20 -40)

Ordering Information

AFR

'—1

i Type .
| 200

Mini_
semi-modular type

320
420

Junior
modular type
Junior
modular type

-]

-]

,_l [

|

Port size(PT)
8 | 1/4"
| (200,300,320 type only)
|
15 12
| (420 type only)

Element |
40 40/m element
R |

Auto drain

AD20 ? 200 type only

AD40 I 320, 420,
|

—Parkor LR




Filters, Regulators & Lubricators AFR

Dimensions, Filter & Regulator

AFR200-8

2-PT1/8

27

3 - 3
2 S i
6
2-PT1/4
; BRACKET HOLE
|
|
i
i
AFR320-8, 10/AFR420-15
| F
o8
A
i ,
o
—
ouTt
r
MODEL A B c D E F G H I J K L M N o]
AFR320 42 65 98 258 61 5 30 45 535 77 69 48 7 1/4 3/8 1/8 M36xF'1 5
AFR420 50 80 110 289 65 35 54 57 945 84 63 7 1/2 1/4 M42xP1 .5

—Parkor LI



Filters, Regulators & Lubricators

Flow characteristics, filter & regulator
(at 7 bar inlet)

s AFR 200-8
7 RC(PT) 1/4
6 _
) h‘\"---..'_______iz__bsr
T —

----....________________2._2_-11?:&

T — \
\

?

] 3.1 bar

2.1 bar

Secondary Pressure (bar)
L

|
/

|

0
1] 200 400 600 B00 1000
Flow (I/min)
* AFR 320-10
7 RC(PT) /8
§ T ——
“——-—..._______ 62 bar
% 4 _ 44 bar --*‘\
¢ — h
g 3 — 3.1bar \
& - | o
3 ! N
5 2.1 bar
§ 2 = === =
1] \
1 - —
0
0 1000 2000 3000 4000
Flow (I/min)

—Parkor LR

AFR

* AFR 420-15
RC(PT) 1/2

7

6 h‘":;_‘_
R “"-—-....___________-—
5 — _ 6.2 bar -
BoP—
g . - ""‘——-—._—-—-—.____ bar \
< A
E o 3.1 bar
5 o I | —
§ 2 —— 2.1 bar ~

1 —

0

0 1000 3000 4000 5000 6000
Flow (I/min)



Filters, Regulators and Lubricators AU

Filter, Regulator and Lubricator combination
Semi-modular type

5 im (standard), 40.m (option)

Manual drain, auto drain

Operating Information ‘§
<> nine C

AU200-8
Port size(PT) 1/4"
Working pressure 0.5 ~ 8.5( bar)
-\;r;;ing temperatur;“m - o 0~60 T
Filtration - o 5 um (option : 40 tm )
Max.flow rate B -Ifr-nin (for flow rate characteristic chart see page 4-29)

Ordering Information

AU 200-8 : Manual drain
AU 200 - 8 - AD20 : Auto drain

*For 40um filter element add "-40" to end number, (example : AU200-8-AD20-40)

Dimensions

114 | 25

s

0] i
T11 1 R oapTie R [ ‘
J/L% |
& : |
N _/ S
" -

LTI T

2-PT1/4

< = %gg

Bri t Hole

—Parkor LI



Filters, Regulators and Lubricators

Filter Regulator and Lubricator combination

L

Semi-modular type

5 ym (standard), 40¢m (option)

Manual drain, auto drain

Operating Information

AU210-8
Portsize(PT) 1/4*
Working pressure 0.5~ 8.5(bar)
| Working temperature N - 0-60 TC _
Filtration o 5 m (option: 40 ym)
Max.flow rate o - I/min (for flow rate characteristic chart see pagé.;lu-és).) " -

Ordering Information

AU210-8 : Manual drain
AU 210-8- AD20 : Auto drain

*For 40/m filter element add "-40" to end number, (example : AU210-8-AD20-40)

Dimensions

2-PT1

@42

Bracket Hole

—Parkor LR



Filters, Regulators and Lubricators AU

* Filter, Regulator and Lubricator combination

Modular type

Operating Information

5¢m(standard), 40.m(option)
Manual drain, auto drain

Port size (PT)

Working pressure

Filtration

Max. flow rate

Working temperature

AU320-8 AU320-10
1/4" /8"

0.5 ~ 85 (bar)
0-60C
5um(option : 40;m)

I/min (for flow rate characteristic chart see page 4-29)

Ordering Information

AU 320-8, AU 320-10

: Manual drain

AU 320-8-AD40, AU 320-10-AD40 : Auto drain
* For 40;m filter element add "-40" to end number, (example : AU320-8-AD40-40)

Dimensions

—Parkor LI

30 825

——
|




Filters, Regulators and Lubricators AU
* Filter-Regulator and Lubricator combination
* Modular type
» 5um(standard), 40um(option)
* Manual drain, auto drain
Operating Information
R
AU321-8 AU321-10
Port size (PT) 1/4" 3/8"
Working pressure 0.5 ~ 8.5 (bar)
Working temperature 0-60°C
Filtration 5pm(option : 40ym)
Max. flow rate I/min (for flow rate chara(.:ten-'is.ti.c“cl-';;'t see page 4-29) e _.
Ordering Information
AU 321-8, AU 321-10 : Manual drain
AU 321-8-AD40 , AU 321-10-AD40 : Auto drain
* For 40/ filter element add "-40" to end number, (example : AU321-8-AD40-40)
Dimensions
]
|
| out
1
MODEL A ©8 C D E F ©6 H 1 J K L M N O P Q@ R
AU321 42 65 98 258 615 30 45 535 77 69 48 7 1/4 3)8 1/8 M36xP1.5 56 196 132

—Parkor LR



Filters, Regulators and Lubricators

Filter, Regulator and Lubricator combination
Modular type

5/m(standard), 40xm(option)

Manual drain, auto drain

Operating Information

AU

AU420-15
Port size (PT) 2
Working pressure o 0.5 ~ 85 (bar) —
Working temperature 0-60°C
— I —
e o B el

Ordering Information

AU 420-15 : Manual drain
AU 420-15-AD40 : Auto drain
* For 40um filter element add "-40" to end number, (example : AU420-15-AD40-40)

Dimensions

80 ) 30

L

2-PT1/8

ouT |

™
(2]
INE-

!

T

|

i

e |
.

L

—

-~ PT1/2

177
163

—Parkor LI




Filters, Regulators and Lubricators AU
* Filter-Regulator and Lubricator combination
* Modular type
* 5/m(standard), 40um(option)
¢ Manual drain, auto drain
Operating Information
‘g\g
AU421-15
Port size (PT) 12"
Working pressure 0.5 ~ 85 (bar)
Working temperature 0-60°C
Filtration 5y m(option : 40zm)
Max. flow rate - Lf'r-niln (f;rﬂaw rate characteristic chart see page 4-29)
Ordering Information
AU 421-15 : Manual drain
AU 421-15-AD40 : Autodrain
* For 40um filter element add "-40" to end number, (example : AU421-15-AD40-40)
Dimensions
: -t%ﬁ
" TS
YA -
B our
° [
|
|
MODEL A ©®8 C D E F © H | J K L ™ N O P Q@ R
AU421 50 80 110 289 65 35 54 57 945 84 63 7 12 1/4 M42xP15 56 219 163

m Pneumatic




Accessories

Sliding sleeve valve 9721 9005

¢ Linear sleeve operated 3/2 valve

* Simple airline isolation

* Compact

* Minimum space for valve operation

Operating Information

2

UTirs
1 '3

9721, GAD

Specification
Order code 9721 9005-60 9721 9005-61 9721 9005-62 9721 9005-63
Connection G1/8" G1/4" G3/8" G1/2"
Working pressure Max. 40 (bar)
Working temperature -20 - 100°C
Valve body Brass
Material
Seals Nitrile
Gauge GAD-40, GAD-50

Specification

Order code GAD-40 GAD-50
Connection(PT) 1/8" 1/4"
Pressure | 0 - 10 (bar)

Applcable Alr AFR200, AR200, AFR320, AR320

Preparation System AFR420, AR420

—Parkor LI



BKL200

Accessories

Bracket BKL200

-—-—-—-5
i w) AN
I S -é}\ .___} — il
-] i . | . : Order code Applicable air preparation systems
' ! _' !
1 _Lgﬁ& - BKL200 AU200. AFR200, AR200
s 1\ s - o
N Fel
R
! J I

—Parkor LR



Accessories

BKL, BKC, BKV

Bracket BKL320, BKL420
p—_——
\_ w p Order code Applicable air preparation systems
BIRSF o
d. T BKL320 AFR320, AR320
4 ﬁ of BKL420 AFR420, AR420
m/ L e
L MODEL A B ©D E F G H I J K
. . BKL320 655 307 2 45 105 13 26 10 7 22
" BKL420 80 368 2 45 105 13 26 10 7 22
RE RN
N MODEL L M N O P Q R RIRT
- (un] T
| X r°° BKL320 775 183 36 5 272 8 4 5 2 23
T t — S—
BKL420 775 183 36 5 272 8 5 5 2 23
Bracket BKC320, BKC420
i
“ R Order code Applicable air preparation systems
o r Nca dl BKC320 AFR320, AF320, AR320, AL320
8 J ] BKC420 AFR420, AF420, AR420, AL420
.'-"J\z- ® I
B |
-t MODEL A B @D E F G H I J K
- BKC320 69 307 365 30 105 13 26 8 7 10
BKC420 84 368 425 40 105 13 26 8 7 10
A1 T
[
i
MODEL L LH R RM @S T 2Z*
BKC320 262 45 32 2 45 23 60
BKC420 333 55 395 2 4 23 60
Bracket BKU320, BKU321, BKU420, BKU421
7
7 7
4+
ARl F
R i 2-R8 T Order code Applicable air preparation systems
| —2M5 \/
o B BKU320 AU320
[ ‘ e - S - e —
BKU321
g 3 I
| BKU420 AU420
8l o BKU421 AU421
e f J
\I :J '
21 32

—Parkor LI




Flexible Tubings PHHU

* Polyurethane tubing

* Wide choice of colours

Operating Information

Material Polyurethane
Colour Main colour : blue, black,  Option : yellow, green, red, white
Max. pressure Working pressure Weight
Order number
at20 (kg/cm2) at20 (kg/cm2) (g/m)
PHHU-4X2 23 5 1o
PHHU-6X4 23 5 19.00
PHHU-8X5 23 5 37.00
PHHU-10X6.5 23 - 5 55.00
PHHU-12X8 23 5 76.00
Ordering _Information
Order number Outside(mm) Inside(mm) Thickness(mm)
PHHU-4X2 4.00 2.00 R
PHHU-6X4 6.00 4.00 1.00 B
PHHU-8X5 8.00 5.00 1.50
PHHU10X65 1000 s 15
PHHU-12X8 12.00 8.00 2.00

—Parkor LR



Fittings

* One touch fitting
* Light weight and compact size

1ODeratinq Information

Push-in Fittings

Max. pressure

Max. working pressure
Working temperature
Fluid

Applied tube material

Tube outside bore

12 bar
9.9 bar
5~60'C
Compressed air
Nylon, Polyurathan
12

4, 6, 8, 10,

Ordering Information

Fislc

' Push-in type

FSC, FSCL, FSF, FSFP,
FSB, FSE, FLE, FEP,

FST, FSTL, FSY, FEY,
FEYR, FUE, FUL, FUT,
FUER, FUY, FUTR, FUC, |
FUM, FUMC, FUML,

FSES, !

' | Tube outside bore (D) '

(i

Port size(PT)

FSC, FSCL, FSF, FSFP,
FSE, FLE, FST, FSTL,
FSY, FUMC, FSES

Etc

| FSB, FEP, FEY, FEYR,
| FUE, FUL, FUT, FUER,
| FUY, FUYR, FUC, FUM,
| FUML

4,6,8,10,12

—Parkor LI




Push-In Fittings FSC, FSCL, FSF

Male connector FSC

oo PSS MBS uem  em O
Tubeo FSC04-M5 4 M5x0.8P 21.9 46 15.9 10x115
_ —— FSC04-1/8 4 PT1/8 216 8 15.9 10x115
Tl = s FSC04-1/4 4 PT1/4 206 10 15.9 14 % 16.1
/ FSC06-M5 6 MS5x0.8P 236 46 16.5 10x115
u" FSC06-1/8 6 PT1/8 222 8 16.5 12x 138
y FSC06-1/4 6 PT1/4 21 10 16.5 14 x 16.1
FSC06-3/8 6 PT3/8 22 1 165 17x 185
y FSC08-1/8 8 PT1/8 275 8 17.7 12x13.0
| = FSC08-1/4 8 PT1/4 25,5 10 17.7 14x 154
\ < FSC08-3/8 8 PT3/8 23 11 17.7 17x 185
/ FSC08-1/2 8 PT1/2 29.7 14 17.7 22x245
i‘ FSC10-1/8 10 PT1/8 28.7 8 18.6 12x13.0
I FSC10-1/4 10 PT1/4 30.7 10 186 14x15.4
FSC10-3/8 10 PT3/8 24.7 11 18.6 17 x 185
FSC10-1/2 10 PT1/2 297 14 18.6 22 x24.5
FSC12-1/4 12 PT1/4 228 10 20.9 14x15.4
FSC12-3/8 12 PT3/8 29.8 11 20.9 17x185
FSC12-1/2 12 PT1/2 298 14 20.9 22x245
Male connector FSCL

Ordercode  APPYILE  MISEEL,  Lnm)  Amm)  (F)igpmimm  Oesel  widihlmm)

FSCL04-M5 4 M5x0.8P 218 46 15.9 02x2.31 38

. TuBEs FSCL04-1/8 4 PT1/8 20.4 8 15.9 03x3.46 3

I — FSCLO04-1/4 4 PT1/4 204 10 15.9 03x3.46 3

r n FSCLO6-M5 6 M5x0.8P 226 46 165 02x2.31 4

FSCL06-1/8 6 PT1/8 21.8 8 16.5 04x4.62 33

Ll FSCLO6-1/4 6 PT1/4 225 10 165 044,62 4

-] FSCL06-3/8 6 PT3/8 225 11 16.5 04x4.62 4

FSCL08-1/8 8 PT1/8 27 8 17.7 04x4.62 6.3

FSCLO08-1/4 8 PT1/4 25 10 17.7 06x6.93 43

FSCL08-3/8 8 PT3/8 25 1 17.7 06x6.93 43

FSCLO08-1/2 8 PT1/2 25 14 17.7 06x6.93 43

FSCL10-1/8 10 PT1/8 27 8 18.6 05%5.77 6.3

FSCL10-1/4 10 PT1/4 26.6 10 18.6 06x6.93 5

FSCL10-3/8 10 PT3/8 26.6 11 18.6 06x6.93 5

FSCL10-1/2 10 PT1/2 26.6 14 18.6 06x6.93 5

FSCL12-1/4 12 PT1/4 32.4 10 20.9 06x6.93 6.5

FSCL12-3/8 12 PT3/8 324 11 20.9 08x9.24 6.5

FSCL12-1/2 12 PT1/2 324 14 20.9 08x9.24 6.5

Female connector FSF

Order code A e PT-screw L(mm) A(mm) (F) Deehtroen pysas

FSF04-1/8 4 PT1/8 267 9 15.9 12x13.0

_ Tubeo FSF04-1/4 4 PT1/4 28.7 1" 15.9 14 x 154

R FSF06-1/8 6 PT1/8 27.3 9 16.5 12x13.0
F ;. FSF06-1/4 6 PT1/4 293 11 165 14x15.4

‘ FSF06-3/8 6 PT3/8 30.2 12 16.5 17x185

w | FSF08-1/8 8 PT1/8 28.5 9 177 12x13.0

B i . FSF08-1/4 8 PT1/4 305 11 17.7 14x15.4
; F FSF08-3/8 8 PT3/8 315 12 17.7 17x185

e : FSF10-1/8 10 PT1/8 31.4 9 186 12x13.0
ﬂtﬁ T FSF10-1/4 10 PT1/4 315 1 186 14x154

I '|| < FSF10-3/8 10 PTa/8 324 12 186 17x185
cL {J FSF12-1/4 12 PT1/4 34.7 11 20.9 14x15.4
T hsorew FSF12-3/8 12 PT3/8 347 12 20.9 17x 185
FSF12-1/2 12 PT1/2 36.7 14 209 22245

Pneumatic



Push-In Fittings

Female connector FSFP

FSFP, FSB, FSE

Ondorcade AUEYUR pracena (L Nowidh Macrew A tecgos pTuensen eagn
ol 3 FSFPO4-1/8 4 PTI/8 267 5  MI2x1.0P 9 14x16.1 16.8 14 x16.1
[ T ] | FSFP06-1/8 6 PT1/8 28.3 5 M14 x 1.0P 9 17x19.6 176 17 x 19.5
i FSFP06-1/4 6 PT1/4 30.3 5 M14x1.0P 1 17x19.6 176 17x 196
5 FSFP08-1/8 8 PTI/8 295 5  M16x1.0P 9 19x219 18.7 19%21.9
y E_.I -ll"_] | FSFP08-1/4 8 PT1/4 315 5  MI16x1.0P 11 19x219 187 19x219
1 =4 FSFPO8-3/8 8 PT3/8 325 5  M16x1.0P 12 19x219 18.7 22x25.4
- FSFP10-1/4 10 PT1/4 324 5  M20x1.0P 11 24x277 19.6 24x27.7
‘] FSFP10-3/8 10 PT3/8 334 5  M20x1.0P 12 24x277 196 24x277
=T — FSFP12-1/4 12 PTI4 379 5  M2x10P 11 26x300 219 24x277
FSFP12-3/8 12 PT3/8 37.9 5 M22 x 1.0P 12 26 x 30.0 219 24 x 277
FSFP12-1/2 12 PTi2 399 5  M2x1.0P 14 26x30.0 219 24x27.7
Bulkhead equal union FSB
ordercode TGyt Hmm) (F) Goptnimmy W-screw —e)
e MSCREW FSBO4 4 298 183 M12 x 10P 5(14 x 16.1)
| ﬂ/ FSBO6 5] 33 176 M14 x 10P 5(17 x 19.6)
g ] ] FSBO8 8 354 :'1___3.? M16 x 10P 5(19x21.9)
£l ] FSB10 10 37.8 19.6 M20 x 10P 5(24 x 27.7)
- - FSB12 12 474 219 M22 x 10P 5(26 x 30.0)
-
Male elbow swivel 90° FSE
Order code AF‘;L"(E‘;'}“ M ﬂiﬁ?’i‘ﬁ Lmm)  Hmm)  Amm) (F) L‘;‘;t"h'("r:;')' :1‘3“(’,?1‘:““]
H FSEQ4-M5 4 M5 x 0.8P 27.25 238 4.6 16.8 10x11.0
—fa
T i FSE04-1/8 4 PT1/8 29.75 238 8 168 10x11.0
: FSE04-1/4 4 PT1/4 31.75 238 10 16.8 14x154
] FSE06-M5 6 M5 x 0.8P 3025 265 46 176 10x11.0
| FSE06-1/8 6 PT1/8 32.75 265 8 176 12x13.0
§I N | 4 FSE06-1/4 6 PT1/4 35.75 265 10 176 14 x15.4
. ‘ FSE06-3/8 6 PT3/8 36.75 265 11 176 17x185
_ FSE08-1/8 8 PT1/8 35.15 29.7 8 187 12x13.0
Hex's “\ i H’q\ FSE08-1/4 8 PT1/4 38.15 29.7 10 187 14x15.4
FSE08-3/8 8 PT3/8 39.15 29.7 11 187 17x185
FSE08-1/2 8 PT1/2 4215 29.7 14 18.7 22x245
FSE10-1/8 10 PT1/8 37.25 32.1 8 196 12x130
FSE10-1/4 10 PT1/4 40.25 @21 10 196 14x 154
FSE10-38 10 PT38 4125 21 11 196 17x 185
FSE10-1/2 10 PT1/2 4425 321 14 19.6 22x245
FSE12-1/4 12 PT1/4 44.65 36.9 10 219 14x 154
FSE12-3/8 12 PT3/8 4565 36.9 1 21.9 17 x 18.5
FSE12-1/2 12 PT1/2 4865 36.9 14 219 22x245

Pneumatic



Push-In Fittings

FLE, FSP, FST

Long elbow FLE
- X Order code Ap;l:(‘tau}be (M ;‘ﬁ:;m L(mm) H(mm) Amm)  (F) L:l;:!hl(nr:::; HE;T;%‘:;‘
_ : ' FLEO4-M5 4 M5x08P 3875 238 46 16.8 10x11.0
T “l FLEO4-1/8 4 PT1/8 40.75 238 8 16.8 10x11.0
i == FLEO4-1/4 4 PT1/4 4275 238 10 16.8 14x15.4
g 2l FLE0B-M5 6 MS x0.8P 4425 265 46 176 10x11.0
{ FLE06-1/8 6 PT1/8 46.25 265 8 17.6 12x13.0
Hots FLEO6-1/4 6 PT1/4 48.25 265 10 17.6 14x15.4
L __ FLEO6-3/8 6 PT3/8 49.25 26.5 1 17.6 17x 185
-\“ ﬂ o | FLE0B-1/8 8 PT1/8 51.15 297 8 18.7 12x13.0
= ! FLEOS8-1/4 8 PT1/4 53.15 29.7 10 18.7 14x 154
FLE08-3/8 8 PT3/8 54.15 29.7 11 18.7 17x 185
FLEO8-1/2 8 PT1/2 57.15 29.7 14 18.7 22x245
FLE10-1/8 10 PT1/8 48.45 321 8 196 12x13.0
FLE10-1/4 10 PT1/4 50.45 321 10 19.6 14x154
FLE10-3/8 10 PTa/8 51.45 321 11 19.6 17x 185
FLE10-1/2 10 PT1/2 54.45 321 14 196 22%245
FLE12-1/4 12 PT1/4 66.15 36.9 10 219 14x154
FLE12-3/8 12 PT3/8 67.15 369 1 219 17 x 185
FLE12-1/2 12 PT1/2 70.15 369 14 219 22x245
Plug-in elbow FEP
- H: ] Order code Ap;lgr(g)be J(mm) J(0) L(mm) H(mm) (F) L:zf;{nms:;
T FEPO4 4 205 4 392 238 16.8
| D) I FEP06 6 23 6 447 26.5 17.6
g'i I FEPO8 8 26.5 8 50.6 28.4 18.7
Al N FEP10 10 29 10 55.2 32.1 196
- FEP12 12 33.3 12 63.9 36.9 219
B
L]
| e
Male branch tee swivel FST
| “ . N Order code Ap;llay{;;be M y{ii’;‘:v L(mm) H(mm) A(mm) (F) L:g:r:(n;:}t :eax?r?\z:}
- F | | FST04-M5 4 M5 x 0.8P 27.25 37.6 46 16.8 10x11.5
| ] ¥ “FST04-1/8 4 PT1/8 29.75 376 8 168 10x115
' 5 H FSTO4-1/4 4 PT1/4 31.75 376 10 16.8 14x16.1
Jé Hox'o N 4 FST06-M5 6 M5 x 0.8P 30.25 41 46 176 10x115
[ I FST06-1/8 6 PT1/8 3275 4 8 17.6 12x138
' 1 1 v. FSTO06-1/4 6 PT1/4 35.75 41 10 176 14 x 161
| al b FST06-3/8 6 PT3/8 36.75 41 1 17.6 17x19.6
FST08-1/8 8 PT1/8 35.25 44.4 8 18.7 12x13.8
FSTO8-1/4 8 PT1/4 38.25 44.4 10 187 14x16.1
FST08-3/8 8 PT3/8 39.25 44.4 11 18.7 17x19.6
FSTOB-1/2 8 PT1/2 4225 44 4 14 18.7 22 x 254
FST10-1/8 10 PT1/8 37.25 47.2 8 196 12x13.8
FST10-1/4 10 PT1/4 40.25 472 10 196 14%16.1
FST10-3/8 10 PT3/8 41.25 47.2 11 19.6 .1? x19.6
FST10-1/2 10 PT1/2 4425 472 14 196 22 %254
FST12-1/4 12 PT1/4 44 65 54.8 10 219 14 x16.1
FST12-3/8 12 PT3/8 45,65 548 11 219 17 x 196
FST12-1/2 12 PT1/2 48.65 54.8 14 219 22x25.4

Pneumatic



Push-In Fittings

Male branch tee swivel FSTL

FSTL, FSY, FEY

Order code “Pg‘i:{;,‘;“ escreW  L(mm)  H(mm) Amm)  (F) L:‘:t’;(“n‘:;’; Hg‘(‘;gn‘:;’
) FSTLO4-M5 4 M5 x 0.3P 423 25.1 46 16.8 10x11.5
e FSTLO4-1/8 4 PT1/8 453 25.1 8 168 10x11.5
| . FSTLO4-1/4 4 PT1/4 483 25.1 10 168 14X 16.1
| 4L FSTLO6-M5 6 MS x 0.8P 461 28.1 46 176 10x115
; siiiin FSTLO6-1/8 6 PT1/8 486 28.1 8 176 12x138
4, H | FSTLOG-1/4 6 PT1/4 512 28.1 10 176 14x16.1
N FSTLO6-3/8 6 PT3/8 522 28.1 11 176 17x19.6
- T FSTLOB-1/8 8 PT1/8 522 30.9 8 18.7 12x138
‘ :“ 1 FSTLO8-1/4 8 PT1/4 55.2 309 10 18.7 14 x16.1
A FSTL08-3/8 8 PT3/8 56.2 30.9 11 18.7 17x19.6
i/ FSTLO8-1/2 8 PT1/2 59.2 30.9 14 187 22x25.4
FSTL10-1/8 10 PT1/8 55.6 346 8 19.6 12x138
FSTL10-1/4 10 PT1/4 58.6 346 10 . 19.6 14 x 16.1
FSTL10-38 10 P38 506 346 1 196 17x19.6
FSTL10-1/2 10 PT1/2 626 346 14 196  22x254
FSTL12-1/4 12 PT1/4 64.8 40.3 10 219 14)< 1_6.1
FSTL12-38 12 P38 65.8 403 11 219 17x19.6
FSTL12-1/2 12 PT1/2 68.8 403 14 219 20x25.4
Union Y male connector FSY
Order code Ap;::[g;be ()] Fﬂ:iir;t L(mm) H(mm) A(mm) (F) L‘;‘;:r:?“::s H;"((:‘lgr:;-'
_ y FSY04-M5 4 M5 x 0.8P 34.8 21 46 16.8 10x11.5
[T Tweo | FSY04-1/8 4 PT1/8 413 21 8 16.8 10x11.5
1] =t FSY04-1/4 4 PT1/4 423 21 10 16.8 14x16.1
|u] FSY06-M5 6 MS x 0.8P 416 25 46 176 10%11.5
|l FSY06-1/8 6 PT1/8 441 25 8 176 12x1358
_'|_'_\.’L ) FSY06-1/4 6 PT1/4 47.1 25 10 176 14 % 16.1
FSY06-3/8 6 PT3/8 481 25 11 176 17 % 19.6
[ FSY08-1/8 8 PT1/8 455 29 8 187 12x13.8
iy_m_-g,x[ A FSY08-1/4 8 PT1/4 485 29 10 187 14x16.1
l =< FSY08-3/8 8 PT38 485 29 11 187 17x19.6
—/ FSY08-1/2 8 PT1/2 525 29 14 187 2x254
FSY10-1/8 10 PT1/8 492 35 8 19.6 12x13.8
FSY10-1/4 10 PT1/4 522 35 10 196 14x16.1
FSY10-3/8 10 PT3/8 532 35 11 19.6 17x19.6
FSY10-1/2 10 PT1/2 56.2 35 14 19.6 22x254
FSY12-1/4 12 PT1/4 545 4 10 219 14 x16.1
FSY12-3/8 12 PT3/8 55.4 41 11 219 17x19.6
FSY12-1/2 12 PT1/2 58.4 41 14 219 22 x25.4
Plug-in Y connector FEY

Order code AF‘;E{;‘}“ J(mm) J(0) L(mm) H(mm) 3 E:‘;f;(“r:;';

. ~Tes | FEY04 4 205 4 56.7 21 16.8

Il ™ FEY06 6 23 6 611 25 176

I“;'\ ? [ FEY08 8 265 8 67.4 29 187

N FEY10 10 29 10 74 35 196

- L%# FEY12 12 333 12 836 41 219

| o

Pneumatic



Push-In Fittings

FEYR, FUE, FUL, FUT

Plug-in Y connector FEYR
Apply tube Tube insert
Order code dia(0) J(mm) J(@) L(mm) H(mm) (F) depth(mm)
. w FEYR0604 4 23 6 56.2 21 176
P e FEYRO0806 6 26.5 8 61 25 18.7
“~’f 1 FEYR1008 8 29 10 69.1 29 196
L% | FEYR1210 10 333 12 76.7 35 21.9
It L1 1
RS
L LLE
L iDL
!_.un_l_’
Apply tube E Tube insert
| Order code dia(0) H(mm) L(mm) Nail hole(0) (F) depth(mm)
i FUEQ4 4 346 12.75 33 16.8
FUEODG 6 36.8 14.75 3.3 17.6
FUEO8 8 39.4 19.85 43 18.7
FUE10 10 432 20 43 19.6
FUE12 12 47.8 233 43 219
Union elbow FUL
Apply tube . Tube insert
. Order code dia(0) H(mm) L(mm) Nail hole(@) (F) depth(mm)
] FULO4 4 366 24.2 33 16.8
[ A FULO6 6 418 275 3.3 1756
| ) FULO8 8 449 30.65 43 18.7
?a :L FUL10 10 48.2 34.05 43 196
o § =¥ | FUL12 12 56.8 39.85 43 21.9
' Nail Hole o
1 =
Union tee FUT
Apply tube . Tube insert
. Order code dia(0) H(mm) L(mm) Nail hole(Q) (F) depth(mm)
! T FUTO4 4 3656 24.2 33 16.8
fﬁ_. —— ] FUTO06 6 41.8 275 33 176
[ LT FUTO08 8 449 30.65 43 18.7
-4 e LU FUT10 10 482 34.05 43 196
1 N Holes FUT12 12 56.8 39.85 43 219

—Parkor LR



Push-In Fittings

Equal union reducer FUER

FUER, FUY, FUTR, FUC

Apply tube Tube insert depth(mm) oP
Order code A©) B(O) H(mm) F) ke F-D E@  F(O)
" H - FUER06-04 6 4 36.6 176 16.8 125 105
= FUERO08-06 8 6 37.6 18.7 176 145 125
_,,21 —y Sl.  FUER10-08 10 8 41 19.6 18.7 17.5 145
Eﬁ‘ R ¥ "§ ¢ FUER12-10 12 10 44 219 196 205 175
Union Y connector FUY
Apply tube Tube insert .
Order code dia(@) H(mm) L(mm) (F) depth(mm) oP Nail hole(0)
e F'-——i FUY04 4 21 371 16.8 105 33
T - FUY06 6 25 402 17.6 125 33
‘n_g[ 1 - D '| FUY08 8 29 434 18.7 145 43
= +—Hb 8o FUY10 10 35 47.7 196 175 43
CH] | - ! FUY12 12 41 533 219 205 43
=1 Nail Holeo
1R
Union Y connector reducer FUYR
Apply tube Tube insert depth(mm) oP Nail hole @
) Order code A@) B(O) L(mm)  H(mm) (F) F-C(mm) F-D(mm) E©@) F(0)
|_oPF | oPF FUYR06-04 6 4 37.9 21 176 16.8 125 105 33
| Tube oA | Tube oA
11 FUYR08-06 8 6 413 25 18.7 176 145 125 43
qi =k FUYR10-08 10 8 433 29 19.6 18.7 175 145 43
1 BERI 11
“ Ll ] FUYR12-10 12 10 46.5 35 219 19.6 205 175 43
| T Nail Holea
i
T
TubeoB
T ePE T
Union cross FUC
Apply tube . Tube insert
) Order code dia(0) Nail hole(@) H(mm) L(mm) (F) depth(mm)
[ —
N — lnaroes  FUCO4 4 33 366 37.9 168
T /] FUCO06 6 33 418 425 17.6
N EENeINGE FUC09 8 43 44.9 468 18.7
| J- - +) —-}‘J - -
A T SR FUC10 10 4.3 482 505 19.6
—tHea— FUC12 12 43 548 57.2 219

—Parkor LI



Push-In Fittings

Union manifold connector FUM

FUM, FUMC, FUML, FSES

o Order code “';EI.‘{A‘)“G'” India@)0  Nailhole(@)  Hmm)  Lmm)  (F) Eimm Dg_";'(‘;‘“;’;‘)
I R | FUMO6-04 6 4 33 242 63.7 176 168
%ﬂf—ﬂg ==t f Hﬂ FUM08-04 s 4 43 285 657 - 187 16.8
i iy FUMO08-06 8 6 a3 34 77 187 17.6
o L E FUM10-06 10 6 43 a 784 196 176
= ~ FuM10-08 10 8 43 345 834 196 187
Union manifold connector FUMC
ot A" a0 " oty (LS TRy "
FUMC0614-18 6 4 33 242 723 176 16.8 8 18 12138
FUMCO804-14 8 4 43 285 772 187 168 10 14  17x196
| FUMCO0806-1/4 8 6 43 34 844 187 176 10 14 17x19.6
FUMC1008-38 10 8 43 845 91 196 187 11 a8 22x254
Union manifold connector FUML
Order code APPWI In-dia(B)0 Nailhole @ H(mm) ~L(mm) (P o DE o) J(mm)  J(0)
FUML0604 6 4 33 242 843 176 16.8 5 6
"FUMLO0804 8 4 43 285 895 187 16.8 285 8
'FUMLO0806 8 6 43 34 955 187 178 285 8
FUML1008 10 8 43 345 1097 196 18.7 a1t 10
Male elbow FSES
L Ordorcods  APENAEE (M ISV Lm) M) AO™  (F) gty ol
[/ F . FSES04-M5 4 M5x08P 221 266 46 168 8x9.24
il FSES04-1/8 4 PT1/8 P04 315 i 168 14%16.8
FSES06-M5 6 M5 x 0.8P 22,1 272 46 176 8x9 24
FSES06-1/8 6  PTIB 324 324 g 176 14x16.8
FSES06-1/4 6 PT1/4 353 356 10 176 17x196
FSES08-1/8 8 PT1/8 304 392 8 187 14x168
FSES08-1/4 8 PT1/4 a3 37 10 18.7 T 17x196
FSES08-3/8 8 PT38 397 427 11 18.7 21x242
FSES10-1/4 10 PT1/4 353 425 10 196 T 17x196
FSES10-3/8 10 PTa8 397 436 BET 196 T 21x242
FSES10-1/2 10 PT1/2 478 456 14 196 24%27.7
FSES12-38 12 PT3%8 397 459 1" 219 21x242
FSES12-1/2 12 PT1/2 478 483 14 219 24277

—Parkor LR



	Filters
	Regulators
	Lubricators
	Filters, Regulators & Lubricators
	Accessories
	9721, GAD
	BKL200
	BKL, BKC, BKV

	Tubes & Fittings
	Flexible Tubings
	Fittings
	Push-In Fittings
	FSC, FSCL, FSF
	FSFP, FSB, FSE
	FLE, FSP, FST
	FSTL, FSY, FEY
	FEYR, FUE, FUL, FUT
	FUER, FUY, FUTR, FUC
	FUM, FUMC, FUML, FSES



